Ex./Phil/PG/2.4/89/2018
MAsTER OoF ARTS ExaMINATION, 2018
(1st Year, 2nd Semester)
PHILOSOPHY

[ Philosophy of L anguage (Western)]

Full Marks : 30 Time : Two Hours
The figures in the margin indicate full marks.

Use a separate Answer-Script for each Group.

Group-A
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1. How does Frege solve the problem of substitutivity in the
context of sngular terms by bringing in the notion of sense ?
What does Frege want to point out with the analogy of the
telescope in the context of the sense of an expression ?
Discuss. 6+4
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2. How would Russdll account for the meaningfulness of the
sentence “The present king of Indiais very learned’ ? How
would Strawson react to it ? Discuss in brief. 5+5
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Answer within 200 words
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3. Explain, in brief, the notion of performative utterance

following Audtin. 5
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4. How does Kripke show that the description theory of names
makes us regard a contingent statement as necessary ?
Discuss. 5
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5. Critically explain the logical atomism inherent in the
Augudtinian picture of language. 10
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6. Give a criticd andyss of Wittgenstein's notion of language-

games with reference to his Philosophical Investigations.
10
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Answer within 200 words
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7. Wha is the main difference between family resemblance as
atheory of definition and the Arigtotdian theory of definition ?
5
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8. What is ‘form of lifeé ? Discuss. 5
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